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(m) (m) (m) (m2) (m) (m) (m) (m2)
No. 0 0.00 0. 000 No. 0 0.00 0. 000
No. 0+8. 000 8.00 0.870 0.44 3.52 No. 0+8. 000 8.00 0. 000 0.00 0.00
No. 0+12. 000 4.00 4.400 2. 64 10. 56 No. 0+12. 000 4.00 3.900 1.95 7.80
No. 0+18. 000 6. 00 5. 800 5.10 30. 60 No. 0+18. 000 6. 00 2. 300 3.10 18. 60
No. 1+2. 680 4.68 0. 000 2.90 13.57 No. 1+2. 680 4.68 0. 000 1.15 5.38
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2 1. 00 7 1700
3.15 ~ 4. 05
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4.05 ~ 5.15
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7.00 ~ 8. 00
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8.00 ~ 9. 00
8 1. 00 50 1800
9.00 ~ 10. 00
9 1. 00 50 1800
0.00 ~ 0. 00
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RO JEE 7D ¢ 1.134 m| |[&56/)= 0 1.00 50 1800 1. 044 183.7 0
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5=N=15 0=1700 ke/m3 % + = 0. 00m EL  110.80m
16=N 0=1800 ke/m3 AR = 3. 63m EL  107. 17m
(2) ¥EtEtizBWVnT N=15 OHaIE, WETOHFEZEHT 2
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